

**AGREEMENT BETWEEN CITY OF DELTONA AND
MCMASTER LAWN AND PEST SERVICES
PER ITB NO. PW -2021-04**

THIS AGREEMENT is made and entered into this ____ day of _____, 2021 by and between the CITY OF DELTONA, a municipality of the State of Florida, whose address is 2345 Providence Boulevard, Deltona, Florida 32725, hereinafter called the "City" and **McMaster Lawn and Pest Services**, duly authorized to conduct business in the State of Florida, whose principal address is **P.O. Box 505, DeLeon Springs, FL. 32130** hereinafter called the "Contractor".

WHEREAS, the City desires to obtain services related to **Lawn and Landscaping Services** per ITB No. **PW 2021-04**. The work generally involves all work as described in the bid documents, specifications, drawings and any addendum issued for this project.

WHEREAS, the City requested and received expressions of interest from several companies to provide these services; and

WHEREAS, Contractor is competent and qualified to furnish said services to the City and desires to provide its services for this project.

WHEREAS, this contract was awarded based on the Contractor submitting the lowest responsive and responsible Bid for ITB# PW 2021-04. The City Commission of the City of Deltona has approved award of this agreement on **XXXXXXXXXX** up to the approved budgeted amount for each fiscal year.

NOW, THEREFORE, IN CONSIDERATION of the mutual terms, understandings, conditions, premises, covenants and payment hereinafter set forth, and intending to be legally bound, the parties hereby agree as follows:

Article 1. Recitals

The foregoing recitals are true and correct and incorporated herein by reference.

Article 2. Scope of Services

2.1 Pursuant to the terms and conditions set forth in this Agreement, City hereby engages the Contractor to provide as needed **Lawn and Landscaping Services** per ITB No. PW 2021-04, attached hereto and incorporated herein by reference, and Contractor's Proposal dated March 12, 2021.

2.2 The services, as described in ITB No. PW 2021-04, to be rendered by the Contractor, shall be for an initial period of three (3) years with the option to renew for two (2) additional one (1) year terms upon mutual agreement of both parties.

2.3 The services to be rendered by the Contractor shall include all labor, materials, equipment and incidentals necessary to perform all work indicated and specified in the ITB documents.

2.4 The Contractor acknowledges that nothing herein shall be deemed to preclude the City from retaining the services of other persons or entities undertaking the same or similar services as those undertaken by the Contractor or from independently developing or acquiring materials or programs that are similar to or competitive with, the services provided under this Agreement.

2.5 Contractor shall be responsible for obtaining all required federal, state or local permits required to complete the scope of work under this agreement.

2.6 Contractor shall be responsible for the quality of work performed. Contractor shall, without additional compensation, correct or revise any errors or deficiencies in his services.

Article 3. Payment

3.1 The City agrees to compensate Contractor for work performed, completed and accepted by the City's representative for services provided at the cost as indicated on the attached pricing sheet described as Exhibit A, attached hereto and incorporated herein by reference. Fees for any additional work needed will be agreed upon in writing prior to any service being completed.

3.2 Invoices shall be submitted in duplicate to the City of Deltona, Accounts Payable, 2345 Providence Blvd., Deltona, FL 32725. Each invoice shall contain the purchase order number and a detailed description of services and fees.

3.3 The City shall make payment on all invoices in accordance with the Florida Prompt Payment Act, sections 218.70 through 218.79, Florida Statutes.

3.4 The Contractor shall not be entitled to payment for any other expenses, fees, or other costs it may incur at any time and in any connection with its performance hereunder other than those fees as stated in Exhibit A. The Contractor hereby agrees that the total cost, as stated in Exhibit A, is inclusive of all overhead and administrative expenses.

3.5 In the event a specific project is to be funded by state or federal monies, the Contractor hereby agrees to comply with all requirements of the state or federal government applicable to

the use of the monies, including receiving no payment until all required forms are completed, submitted, and approved by the City.

Article 4. City Responsibilities

4.1 City shall promptly review the deliverables and other materials submitted by the Contractor and provide direction to the Contractor as needed. City shall designate one City staff member to act as City's Project Administrator and/or Spokesperson.

4.2 The City will provide to the Contractor all necessary and available data developed and/or within the possession of the City, and any other data the City possesses that would be useful to the Contractor in the completion of the required services.

Article 5. Special Terms and Conditions

5.1 Qualifications. Firms or individuals shall be registered with the State of Florida and have obtained at least the minimum thresholds of education and professional experience required by Florida Statutes to perform the services contained herein.

5.2 Termination. This Agreement may be terminated by the City upon thirty (30) days advance written notice to the Contractor; but if any work is in progress but not completed as of the date of termination, then this Agreement may be extended upon written approval of the City until said work is completed by the Contractor and accepted by the City.

- A. Upon notification to the Contractor of termination by the City, Contractor will immediately discontinue all services affected unless the notice directs otherwise.
- B. Termination for Convenience. In the event this Agreement is terminated or cancelled upon the request and for the convenience of City, City shall reimburse Contractor for actual work satisfactorily completed.
- C. Termination for Cause. If the termination of this Agreement is due to the failure of the Contractor to fulfill his contractual obligations, City shall reimburse Contractor for actual work satisfactorily completed, and City may take over the work and prosecute the same to completion by Agreement or otherwise.
- D. In the event of termination of this Agreement, all work, reports, and other work product produced by Contractor in connection with the Agreement shall be returned to the City and become and remain the property of the City.

5.3 Assignment. This Agreement may not be assigned or transferred in any manner by Contractor without prior written approval of the City.

5.4 Insurance and Bond. The Contractor shall provide and maintain, during the entire term of this Agreement, without cost to the City, insurance in the following types and limits with a company or companies authorized to do business in the State of Florida. The Contractor shall not commence work under the Agreement until City has received an acceptable certificate or certificates of insurance and endorsement evidencing the required insurance, with the following minimum limits and coverage limits fully available during the entire contract period:

(A) General Liability insurance on forms no more restrictive than the latest edition of the Commercial General Liability policy (CG 00 01 or CG 00 02) of the Insurance Services Office or equivalent without restrictive endorsements, with the following minimum limits and coverage available limits fully available during the entire contract period:

General Liability	
Each Occurrence/General Aggregate	\$1,000,000
Products-Completed Operations	\$1,000,000
Premises Operation	\$1,000,000
Personal & Adv. Injury	\$1,000,000
Professional Liability	\$1,000,000
Blanket Contractual Liability	\$1,000,000
Pollution Liability	\$1,000,000
Fire Damage	\$50,000
Medical Expense	\$5,000

(B) Automobile liability insurance, including owned, non-owned and hired autos with the following minimum limits and coverage:

Combined Single Limit	\$1,000,000
Or	
Bodily Injury (per person)	\$1,000,000
Bodily Injury (per accident)	\$1,000,000
Property Damage	\$100,000

(C) Workers' compensation insurance in accordance with Florida Statute, Chapter 440, and/or any other applicable law requiring workers' compensation (Federal, maritime, etc).

(D) Additional Requirements:

(1) **City of Deltona shall be named and endorsed as an additional insured on the General liability policy.**

(2) The General Liability policy is to contain or be endorsed to name the City, its officers, officials and employees as additional insureds as respects to the liability arising out of the activities performed under this Agreement. Such coverage shall be primary to the extent of Contractors negligent acts or omissions or willful misconduct, and shall apply separately to each insured against whom claim is made or suit is brought, except with respect to the limits of the insurer's liability. In addition, a waiver of subrogation by the commercial liability insurer shall be provided that lists or names the additional insured as subject to the waiver. Coverage shall be on an "occurrence" basis and not "claims made".

(3) Certificates of insurance shall provide for a minimum of thirty (30) days prior written notice to the City of any material change or cancellation of the required insurance, with ten (10) day written notice of cancellation due to non-payment of premium.

(4) Certificates of insurance shall identify the Bid number, contract, project, etc. in the Description of Operations section of the Certificate.

(5) Contractor shall be responsible for subcontractors and their insurance.

(6) The Certificate holder section of each policy shall state: City OF DELTONA, 2345 PROVIDENCE BOULEVARD, DELTONA, FLORIDA 32725.

(7) Contractor shall be solely responsible for all deductibles and self-insurance retention on Liability Insurance policies. All of the policies of insurance so required to be purchased and maintained shall contain a provision or endorsement that the coverage afforded shall not be canceled, materially changed or renewal refused without thirty (30) calendar days written notice, or without ten (10) days written notice of cancellation due to non-payment of premium, being given to City by certified mail.

5.5 Indemnity. Contractor shall indemnify, defend and hold harmless City, its officers and employees, from liabilities, damages, losses and costs, including, but not limited to, reasonable attorney's fees, to the extent caused by the negligence, recklessness or intentional wrongful misconduct of Contractor and persons employed or utilized by Contractor in the performance of this Contract. This indemnification shall survive the term of this Contract. In addition, any act alleged to give rise to an action in inverse condemnation shall be subject to the same indemnification.

5.6 Independent Contractor. Contractor agrees that it shall be acting as an independent contractor and shall not be considered or deemed to be an agent, employee, joint venturer, or partner of City. Contractor shall have no authority to contract for or bind City in any manner and shall not represent itself as an agent of City or as otherwise authorized to act for or on behalf of City.

5.7 Ownership of Deliverables.

(a) Title to all work product produced by Contractor pursuant to this Agreement shall be and remain the sole and exclusive property of City when produced. Contractor shall deliver all such original work product to City upon completion thereof unless it is necessary for Contractor, in City's sole discretion to retain possession for a longer period of time.

(b) The documents, reports, and similar materials provided or created by Contractor are public records and Contractor shall abide by applicable requirements of Florida law. Contractor shall notify the City within 24 hours of receiving the request to release the information concerning the subject project to a member of the media and/or to the public. The City's notification shall to the extent possible provide the name, date, time and type of information requested to be released prior to the Contractor's release or disclosure of information to the media or to the public.

5.8 Return of Materials. Upon the request of the City, but in any event upon termination of this Agreement, Contractor shall surrender to the City all memoranda, notes, records, and other documents or materials pertaining to the services hereunder, that were furnished to the Contractor by the City pursuant to this Agreement. Contractor may keep copies of all work products for its records.

5.9 NO CLAIM FOR DAMAGES OR ANY CLAIM OTHER THAN FOR AN EXTENSION OF TIME SHALL BE MADE OR ASSERTED AGAINST THE CITY BY REASON OF ANY DELAYS. No interruption, interference, inefficiency, suspension or delay in the commencement or progress of the work from any cause whatsoever, shall relieve the Contractor of his duty to perform or give rise to any right to damages or additional compensation from the City. The Contractor expressly acknowledges and agrees that the Contractor shall receive no damages for delay. The Contractor's sole remedy, if any, against the City shall be the right to seek an extension to the contract time.

5.10 Retaining Other Contractors. Nothing herein shall be deemed to preclude the City from retaining the services of other persons or entities undertaking the same or similar services as those undertaken by the Contractor or from independently developing or acquiring materials or programs that are similar to or competitive with, the services provided under this Agreement.

5.11 Accuracy. The Contractor is responsible for the professional quality, technical accuracy, timely completion and coordination of all the services furnished hereunder. The Contractor shall, without additional compensation, correct or revise any errors, omissions or other deficiencies in its services.

5.12 Codes and Regulations. All work completed under this Agreement shall at all times comply with all applicable federal, state and local statutes, codes, regulations and ordinances.

5.13 Public Entity Crimes. A person or affiliate who has been placed on the convicted vendor list following a conviction of a public entity crime may not be awarded or perform work as a contractor, supplier, subcontractor, or engineer under a contract with any public entity in excess of the threshold amount provided in Florida Statutes, section 287.017 for Category Two for a period of thirty-six (36) months from the date of being placed on the convicted vendor list.

5.14 Prohibition against Contingent Fees. Contractor warrants that they have not employed or retained any company or person, other than a bona fide employee working solely for the Contractor to solicit or secure this Agreement and that they have not paid or agreed to pay any person, company, corporation, individual, or firm, other than a bona fide employee working solely for the Contractor, any fee, commission, percentage, gift or other consideration contingent upon or resulting from the award or making of this Agreement.

Article 6. General Conditions

6.1 This Agreement is made under, and in all respects shall be interpreted, construed, enforced, and governed by and in accordance with, the laws of the State of Florida. Venue for any legal action resulting from this Agreement shall lie solely in Volusia County, Florida.

6.2 No modification, amendment or alteration in the terms or conditions contained herein shall be effective unless contained in a written document executed with the same formality and of equal dignity herewith. The City may make changes in the services at any time by giving written notice to Contractor. If such changes increase (additional services) or decrease (eliminate any amount of work) in the scope of work, City and Contractor shall modify this agreement through issuance of a change order. All change orders shall be authorized in writing by City prior to commencing or reducing any term of this agreement.

6.3 The captions utilized in this Agreement are for the purposes of identification only and do not control or affect the meaning or construction of any of the provisions hereof.

6.4 This Agreement shall be binding upon and shall inure to the benefit of each of the parties and of their respective successors and permitted assigns. Nothing in this Agreement is intended or shall be deemed to confer any rights or benefits upon any entity or person other than the parties hereto or to make or render any such other entity or person a third-party beneficiary of this Agreement.

6.5 This Agreement may not be amended, released, discharged, rescinded or abandoned, except by a written instrument duly executed by each of the parties hereto.

6.6 The failure of any party hereto at any time to enforce any of the provisions of this Agreement will in no way constitute or be construed as a waiver of such provision or of any other provision hereof, nor in any way affect the validity of, or the right thereafter to enforce, each and every provision of this Agreement.

6.7 During the term of this Agreement Contractor assures City that it is in compliance with Title VII of the 1964 Civil Rights Act, as amended, and the Florida Civil Rights Act of 1992, in that Contractor does not on the grounds of race, color, national origin, religion, sex, age, disability or marital status, discriminated in any form or manner against Contractor employees or applicants for employment. Contractor understands and agrees that this Agreement is conditioned upon the veracity of this statement of assurance.

6.8 Public Records. The Contractor shall allow public access to all documents, papers, letters, or other material subject to the provisions of Chapter 119, Florida Statutes, and made or received by the Contractor in conjunction with this Agreement. Specifically, the Contractor shall:

- (a) Keep and maintain public records that ordinarily and necessarily would be required by the City in order to perform the service.
- (b) Upon request of the City's custodian of public records, provide the City with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided in state law or as otherwise provided by law.
- (c) Ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract if the contractor does not transfer the records to the City.
- (d) Meet all requirements for retaining public records and transfer, at no cost, to the City all public records in possession of the Contractor upon termination of the Agreement and destroy and duplicate public records that are exempt or confidential and exempt

from the public records disclosure requirements. All records stored electronically must be provided to the City in a format that is compatible with the information technology system of the City.

(e) IF THE CONTRACTOR HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, TO THE CONTRACTOR'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS CONTRACT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT (386) 878-8100, jraftery@deltonafl.gov, 2345 Providence Blvd., Deltona, Florida 32725.

6.9 E-VERIFY REQUIREMENTS

Definitions:

“Contractor” means a person or entity that has entered or is attempting to enter into a contract with a public employer to provide labor, supplies, or services to such employer in exchange for salary, wages, or other remuneration.

“Subcontractor” means a person or entity that provides labor, supplies, or services to or for a contractor or another subcontractor in exchange for salary, wages, or other remuneration.

Effective January 1, 2021, public and private employers, contractors and subcontractors will begin required registration with, and use of the E-verify system in order to verify the work authorization status of all newly hired employees. Vendor/Consultant/Contractor acknowledges and agrees to utilize the U.S. Department of Homeland Security’s E-Verify System to verify the employment eligibility of:

- a) All persons employed by Vendor/Consultant/Contractor to perform employment duties within Florida during the term of the contract; and
- b) All persons (including subvendors/subconsultants/subcontractors) assigned by Vendor/Consultant/Contractor to perform work pursuant to the contract with the Department. The Vendor/Consultant/Contractor acknowledges and agrees that use of the U.S. Department of Homeland Security’s E-Verify System during the term of the contract is a condition of the contract with the City of Deltona; and
- c) *Should vendor become successful Contractor awarded for the above-named project, by entering into this Contract, the Contractor becomes obligated to comply with the provisions of Section 448.095, Fla. Stat., "Employment Eligibility," as amended from time to time. This includes but is not limited to utilization of the E-Verify System to verify the work authorization status of all newly hired employees, and requiring all subcontractors to provide an affidavit attesting that the subcontractor does not employ, contract with, or subcontract with, an unauthorized alien. The contractor shall maintain a copy of such affidavit for the duration of the contract. Failure to comply will lead to termination of this Contract, or if a subcontractor knowingly violates the statute, the*

subcontract must be terminated immediately. Any challenge to termination under this provision must be filed in the Circuit Court no later than 20 calendar days after the date of termination. If this contract is terminated for a violation of the statute by the Contractor, the Contractor may not be awarded a public contract for a period of 1 year after the date of termination.

Article 7 - Severability and Notice

7.1 The invalidity or unenforceability of any particular provision of this Agreement shall not affect the other provisions hereof, and this Agreement shall be construed in all respects as if such invalid or unenforceable provisions were omitted.

7.2 Wherever provision is made in this Agreement for the giving, service or delivery of any notice, statement or other instrument, such notice shall be in writing and shall be deemed to have been duly given, served and delivered, if delivered by hand or mailed by United States registered or certified mail or sent by facsimile, addressed as follows:

If to the Contractor:

David McMaster
President
McMaster Lawn & Pest Services
P.O. Box 505
Deleon Springs, FL. 32130

If to City:

Steven G. Danskine, P.E., CFM
Acting Public Works Director
City of Deltona
2345 Providence Blvd.
Deltona, Florida 32725

and

Joyce Raftery
City Clerk
City of Deltona
2345 Providence Blvd.
Deltona, Florida 32725

Each party hereto may change its mailing address by giving to the other party hereto, by hand delivery, United States registered or certified mail notice of election to change such address.

Article 8. Scope of Agreement

8.1 This Agreement is intended by the parties hereto to be the final expression of their Agreement, and it constitutes the full and entire understanding between the parties with respect to the subject hereof, notwithstanding any representations, statements, or agreements to the contrary heretofore made.

8.2 This Agreement consists of the following:

This Agreement

Notice of Award
Bid Documents
Addendum, if any
Contractor's Bid

(REMAINDER OF PAGE INTENTIONALLY LEFT BLANK)

IN WITNESS WHEREOF, the parties hereto have made and executed this Agreement for the purposes stated herein.

ATTEST:

Secretary

(CORPORATE SEAL)

CONTRACTOR:

President

Date

ATTEST:

CITY OF DELTONA

JOYCE RAFTERY
City Clerk

JOHN A. PETERS, III, P.E.
Acting City Manager

Date

Approved as to Form and Legality:

MARSHA SEGAL-GEORGE
City Attorney

Exhibit A

BID RESPONSE FORM - ITB # PW 2021-04 LAWN SERVICES					
LAWN SERVICE LOCATIONS					
STORMWATER DEPARTMENT LOCATIONS					
ITEM #	DESCRIPTION	LOCATION	ESTIMATED CUTS PER YEAR	COST PER CUT	EXTENDED COST
1	Water Quality Pond F6	Next to 1274 Ft. Smith Blvd.	20	50	\$ 1000.00
2	Antelope Retention Pond	538 Antelope Dr.	20	50	\$ 1000.00
3	Applegate Retention Pond	N. Normandy Blvd./Applegate Terr.	20	125	\$ 2500.00
4	Baton Pump Approach	Next to 1318 Feredina Dr.	20	50	\$ 1000.00
5	Bavon Retention Pond	Next to 1745 Bavon Dr.	20	250	\$ 5000.00
6	Beal and Juliet Retention Pond	Next to 2913 Beal St.	20	150	\$ 3000.00
7	Bismarck Retention Pond	Next to 1613 Bismarck Dr.	20	125	\$ 2500.00
8	Bluebird Retention Pond	Across from 960 Bluebird Ter.	20	75	\$ 1500.00
9	Calusa Retention Ponds (2)	Across from 561 Calusa Ter, Next to 404 Ft. Smith	20	50	\$ 1000.00
10	Chapel Retention Pond	Next to 1774 E. Chapel Dr.	20	300	\$ 6000.00
11	Deed Circle Retention Pond	Across from 555 Deed Circle	20	50	\$ 1000.00
12	Dixie Belle Retention Pond	Across from 2044 Dixie Belle Ave	20	50	\$ 1000.00
13	Dorchester Retention Pond	Next to 3216 Riverhead Dr.	20	50	\$ 1000.00
14	Eustace Retention Pond	Across from 1997 Eustace Avenue	20	105	\$ 1300.00
15	Evard Retention Pond	Next to 1909 Elkcam Blvd.	20	175	\$ 3500.00
16	Fulford Retention Pond	Next to 2802 Fulford Dr.	20	50	\$ 1000.00
17	Gallagher # 1 Retention Pond	Next to 2075 Gallagher Ave.	20	105	\$ 1200.00
18	Gallagher # 2 Retention Pond	Next to 2051 Gallagher Ave.	20	125	\$ 2500.00
19	Glancy Retention Pond	Next to 1845 E. Glancy Drive	20	75	\$ 1500.00
20	Gloria Retention Pond	Next to 2159 E. Gloria Dr.	20	50	\$ 1000.00
21	Heritage Retention Pond	Next to 1310 Heritage Terrace	20	50	\$ 1000.00
22	Huron Retention Pond	Across from 2948 N. Huron Drive	20	100	\$ 2000.00
23	James Ave Retention Pond	Next to 1169 James Avenue	20	75	\$ 1000.00
24	Lackland Retention Ponds (2)	Next to 2415 Lackland Dr., Next to 2416 Lackland Dr.	20	50	\$ 1000.00
25	Lehigh Retention Pond	Next to 811 E Lehigh Dr	20	50	\$ 1000.00
26	Meadowlark Dr Retention Pond	Next to 1455 Meadowlark Dr	20	50	\$ 1000.00
27	Monica Retention Pond	Across from 1501 Elkcam Blvd.	20	75	\$ 1500.00
28	Morvin / Harbinger Retention Pond	Next to 1757 Morven Ct.	20	50	\$ 1000.00
29	Normandy / Elkcam Retention Pond	Next to 2142 N. Normandy Blvd.	20	50	\$ 1000.00
30	Old Mill / Galena Retention Pond	Next to 1486 E. Old Mill Dr.	20	50	\$ 1000.00
31	Rockford Retention Pond	Across from 426 Rockford	20	50	\$ 1000.00
32	Tassel Retention Pond	Across from 589 Tassel Terrace	20	50	\$ 1000.00
33	Tulsa Retention Pond	Next to 3160 Elkcam Blvd.	20	50	\$ 1000.00
34	Union / Filmore Retention Pond	Next to 2225 Filmore Avenue	20	90	\$ 1100.00
35	Roland Retention Pond	Next to 3340 Roland Drive	20	90	\$ 1600.00
36	Lush Retention Pond	110 Lush Lane	20	75	\$ 1500.00
37	Shallowford Retention Pond	Across from 3034 Shallowford St.	20	50	\$ 1000.00
38	Ledford Retention Pond	120 Ledford Road	20	50	\$ 1000.00
39	Normandy 1 Retention Pond	Next to 1909 E. Normandy Blvd.	20	50	\$ 1000.00
40	Normandy 2 Retention Pond	Next to 1721 E. Normandy Blvd.	20	50	\$ 1000.00
Grand Total of all Stormwater Locations					\$ 62,800.00

Bid # PW 2021-04 – LAWN AND LANDSCAPING SERVICES

WATER AND WASTEWATER DEPARTMENT LOCATIONS

ITEM #	DESCRIPTION	LOCATION	ESTIMATED CUTS PER YEAR	COST PER CUT	EXTENDED COST
41	Water Department Main Office	255 Enterprise Rd	20	75	\$1500.00
42	Wastewater Reclamation Facility	401 Fisher Drive	40	125	\$5000.00
43	Water Plant 1	660 Wellington / Flagami	40	50	\$2000.00
44	Water Plant 2	333 Diamond / Fowler	40	100	\$4000.00
45	Water Plant 4	1120 Elkcam / Sylvia	40	25	\$1000.00
46	Water Plant 5	1372 Lombardy / Rockhill	40	25	\$1000.00
47	Water Plant 6	1372 Lombardy / Rockhill	40	25	\$1000.00
48	Water Plant 7	1240 Saxon / Agatha	40	25	\$1000.00
49	Water Plant 8	2741 Courtland / Riverhead	40	50	\$2000.00
50	Water Plant 9	880 Vicksburg / N Union	40	25	\$1000.00
51	Water Plant 10	2147 Howland / Loblolly	40	25	\$1000.00
52	Water Plant 11	551 Courtland / Shallowford	40	50	\$2000.00
53	Water Plant 12	720 Sagamore / Brimhall	40	50	\$2000.00
54	Water Plant 13	2882 Beaver / Providence	40	25	\$1000.00
55	Water Plant 14	3396 Courtland / Grayton	40	25	\$1000.00
56	Water Plant 15	2551 Omaha / Laval	40	25	\$1000.00
57	Water Plant 16	1103 Magdelena / Wycliffe	40	25	\$1000.00
58	Water Plant 17	2308 N. Normandy / Firwood	40	25	\$1000.00
59	Water Plant 18	76 S. Courtland / Staten	40	25	\$1000.00
60	Lift Station # 31	Front of Save-A-Lot	40	25	\$1000.00
61	Interconnect with VC	Providence Blvd./1814 N. Acadian Dr.	40	25	\$1000.00
62	Eastern Water Reclamation Facility	301 11th Avenue	40	250	\$10,000.00
63	Alexander Avenue RIB Site	End of Mobley/Windbrook approx. mowing area is 21.75 acres	40	600	\$12,000.00
64	Lift Station # 18-Sable Ct.	2411 Sable Avenue	40	25	\$1000.00
65	Lift Station # 25-Eric Jason Ct.	201 Eric Jason Court	40	25	\$1000.00
66	Lift Station # 29-Discovery Elementary	975 Abigail Drive	40	25	\$1000.00
Grand Total of all Water and Wastewater Locations					\$18,600.00 69,500

PARKS AND RECREATION DEPARTMENT LOCATIONS

ITEM #	DESCRIPTION	LOCATION	ESTIMATED CUTS PER YEAR	COST PER CUT	EXTENDED COST
66	City Hall - Main Office	2345 Providence Blvd.	40	200	\$2,000.00
67	Howland Medians 1 -12	medians located between Deltona High School and Providence Blvd.	40	200	\$8000.00
68	Keysville Dog Park	2461 Keysville Avenue	40	200	\$8000.00
69	Dwight Hawkins Park	3050 Riverhead Drive	40	500	\$2000.00
70	Campbell Park	1315 Briarwood	40	200	\$8000.00
71	Wes Crile Park	1537 Norbert Terrace	40	200	\$8000.00
72	Festival Park	191 Howland Blvd.	40	100	\$4000.00
73	MLK Medians	Medians located on MLK between Howland leading up to The Center at Deltona	40	60	\$2400.00
Grand Total of all Parks and Rec. Locations					\$49,910.00

52,400

FIRE DEPARTMENT LOCATIONS

ITEM #	DESCRIPTION	LOCATION	ESTIMATED CUTS PER YEAR	COST PER CUT	EXTENDED COST
74	Howland Fire Station # 65 (this includes the building behind the fire station)	2983 Howland	40	47.50	\$2500.00
Grand Total of all Fire Dept. Locations					\$2500.00

Grand Total of all Locations

\$185,720.00

188,200
Corrected

This Form Must Be Completed in Its Entirety and Returned with your Submittal.

Bid # PW 2021-04 – LAWN AND LANDSCAPING SERVICES